Feuille d’exercices sur le calcul avec des nhombres relatifs

Effectuer les calculs suivants.

A=(-4) + (+6) + (-3) D=(-9)+(+13) + (+7) + (-11)

A= D=

A= D=

B = (-15) + (-118) + (—-47) E=(+1,9)+(+2,4) +(-8,6) + (+12,7)
= E=

B = E =

B = E =

Effectuer les calculs suivants.

A=(-7)+ (+1) - (-10) C=(+10) + (=8) — (=3) + (+4) — (+2)
A= C=
B=(+9) — (-9) — (+20) D=(-108) — (+97) + (=31) — (—-129) — (+61)

Effectuer les calculs suivants.

9-17 = 25-12 = -17+ 29 = 35-12 =
-34+6 = -51-17 = -34-6 = -53-27 =
-76 -7 = 3847 = 92+5 = -47 + 68 =

13-14 = —-26 - 58 = -56-9 = -56 + 27 =
-26+ 33 = -13-13 = -26+ 13 = 27+ 27 =
Effectuer les calculs suivants.

E=-5-6+13 F=-2+12-14 G=27-13 - 15 H=7,8-89-2.3
E= + 13 F= - 14 G= H=

E = F = G= H=
K=-14+5-2 L=-2-23+33 M=18 - 13 - 25 N=-08+27-3,7
K= - L= - M= N =

K= L= M= N =
P=18-7+9-18-9+7 R=14-4+8-8+7 T=64+1195- 3,4+ 0,05
P= R= T=

P= R = T=

Q=-3+24-17+6 S=13,36+4+6 — 3,36 U=108,23 +4,6 — 0,6 + 1,77
Q= S = U=

Q: S = U=
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